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A baseball is hit 3 feet above ground at 100 feet per second and at an angle of
Pi/d with respect to the ground. Find the maximum height reached by the
baseball. Will it clear a 10-foot high fence located 300 feet from home

hase?
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Vectors: Suppose u=<7,-23>, v=<-145> and w=<-21-3 >
] Arewandv orthogonalarallel, or neither?
Find graphically and algebraically 2w +3v and u—v
Find the angle between v and w

Find u-v (dotproduct). uxv (crossproduct), u-(vxw), and lle]| -
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7. Picture: Sketch the circle that fits the graph below the best at the points x =0 and x = 3.

At which of the two points is the curvatre smaller?
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Whatis the maximum height and range of a data height of 3 feet above
the ground with an mitial velocity of 900 fect/sec and at an angle of 45 degrees above
the horizontal?
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Prove the following facts:

M Showthat uxv=—(vxu)

1 Showthat u-(vxu)=10

(] Showthatif y = f(x) is a function that is twice continuously differentiable, then the
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@ Prove that the curvature of a line in space is zero. g~
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